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Choose the most appropriate reported
form of the sentence given:

He said to us, "Don't walk on ice; it isn't
safe."

23.

(A) He warned us not to walk on ice as it
(B) He ordered us not to walked on ice as it
weren't safe.

(C) He told us to avoid walking on ice as it
isn't safe.

(D) He said not to walk on ice as its not safe.
(E) Question not attempted [A]
Choose the most appropriate option to
fill in the blanks:
I her
was a child.

(A) knew, x, since
(B) have known, for, since

(C) was knowing, since, since

(D) know, since, for

(E) Question not attempted [B]
Read the passage and answer the
questions that follow by choosing the
appropriate answer: (Q. 24 to 28)

Once we have settled on a perspective,
we close off with one line of thought.
Certain kinds of ideas occur to us, but only
those kinds and no others. What if the
crippled man who invented the motorized
cart had defined his problem as, "How to
occupy my time while lying in bed?" rather
than "How to get out of bed and move
around the house?"

Leonardo Da Vinci believed that to
gain knowledge about the form of
problems, you begin by approaching the
problem on its own terms. He felt the first
way he looked at a problem was too biased
towards his usual way of seeing things. He
would restructure his problem by looking at
it from one perspective and move to
another perspective and still another. With
each move, his understanding would
deepen and he would begin to understand
theressence of the problem. Da Vinci
discovered that genius often comes from
finding a new perspective that no one else
has taken. ©

Albert Einstein was once asked what the
difference was between him and the
average person. He said that if you asked

1

a long time, a she
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the average person to find a needle in the
haystack, the person would stop when he or
she found a needle. He, on the other hand,
would tear through the entire haystack
looking for all the possible needles. With
creative thinking, one generates as many
alternative approaches as one can.

Most of us have been educated to think
exclusively which means we think in deficit
by focusing our attention on specific
information and excluding all else. In these
instances, exdlisive thinking leads us to
neglect potentially important pieces of the
puzzle. Exclusive thinking doesn't merely
inhibit irrelevant facts and perceptions. It
can also smother the imagination.

Creative thinking is inclusive thinking.
You consider the least obvious as well as the
most likely approaches, and you look for-
different ways to look at the problem. It is
the willingness to explore all approaches
that is important, even after one has found
a promising one.

Identify statements which are true with
respect to the passage:

a. Our settled perspective towards a
problem makes us focus on one line of
thought only.

b. Ledfiardo Da Vinci always solved a
problem in the first attempt.

c. Albert Einstein would look for as many
alternatives as he could to solve a problem.
d. Exclusive thinking enhances creativity and
imagination.

Choose the most appropriate answer from
the options given below:

(A) band conly (B) a and c only
(C) cand d oply (D) aand b only
(E) Question not attempted [B]

Which of the following statements are
not true with respect to the passage?

a. With creative thinking, one generates as
many alternative approaches as one can.

b. Exclusive thinking leads us to the
important pieces of the puzzle.

¢. Inclusive thinking makes one look for
different ways to look at the problem.
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d. Exclusive thinking makes us broaden our
attention and look for potential alternatives.
e. Creativity and inclusive approach go hand
in hand.

Choose the most appropriate answer from
the options given below:

(A) band d only (B) c and e only

(C)d and a only (D)a and e only

(E) Question not attempted [A]
The features that define creative thinking
are:

a. Multi dimensional approach

b. Willingness to explore

¢. Biased approach

d. Not easily satisfied

Choose the most appropriate answer from
the options given below:

(A)b,canddonly (B)a, banddonly
(O)a,canddonly  (D)a, band conly

(E) Question not attempted [A]
According to the passage, the most
important thing with respect to solving a
problem is:

(A) To change our education system

(B) The willingness to explore all alternatives
(C) To be focused with one line of thought
(D) Learn to look for facts

(E) Question not attempted [B]
Choose the Antonym of the word
SURPLUS from the options given:

(A) Inhibit (B) Biased

(C) Deficit (D) Smother

(E) Question not attempted [C]
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Choose the most appropriate English
translation of the given sentence
o = fopama 7t widl?

(A) The book was torn by Rudra why?
(B) Wh tear the book Rudra7

(D) Why the book was torn by Rudra7

(E) Question not attempted (o]
Choose the most appropriate option to fill in
the blanks:

Do you know

friend Arun lives

in London? Yes, my
near London. But in

case he is out of town, I will have to

go.
(A) anyone, nowhere, nothing

(C) nobody, anywhere, something

(D) someone, x, somewhere

(E) Question not attempted [B]
Choose the most appropriate option to
complete the sentence. In an official letter
the 'subject’ is

(A) stretched andrelevant

(C) vague and precise

(D) as long as possible

(E) Question not attempted [B]
Choose the most appropriate word to
complete the given sentence:

I was advised not to loiter

after sunset.

the streets
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(A) for (B) with

(O) to (D) about

(E) Question not attempted D]
Match List-I with List-II

List-I List-II

a. Munich is a large city

the south of Germany. I at

b. Were there many people

_____the concert on Friday? IL. during

c. We shouldn't speak

. IIL in
eating.

d. We didn't speak the

IV. while
meal.

Choose the most appropriate answer from the
options given below:

(A)a-IL b-lv, 1L, d-1  (B) a-1, b-1I, ¢-II1, d-IV
(Q) a-1V, b-111, c-II, d-I (D)a AL b1, 1V, dﬂ

(E) Question not attempted [D]
Choose the word closest in meaning to the
underlined word:

People thronged to pay homage to the
departed leader.

(A) obedience (B) tribute
(C) alienation (D) humility
(E) Question not attempted [B]

Choose the word which is similar in meaning
to RELINQUISH

(A) foenswe (B) persist

(C) abandon (D) residue

(E) Question not attempted [C]
wia e 1 g 1 ber 25 e Hr gh aa a=et g, @
IS g1 a9 & et Fofra g @ ghf?

(A)510° (B) 480°

(C) 450° (D) 375°

(E) SrgaRa ue [A]

gfé 'MEDICAL' &} U iz ymar f 'DEMILAC' ot
ST @, @ 'COMPILE' &t 39 @iz § &4 foan

STenm?

(A) MOCQELI (B) OMCPILE

(jCJr;"MQGPE‘LI (D) MOCPELO
Wﬁﬁﬂ%‘ [C]

L ad
172 19243 1424354

ioft & s ugf w1 A g

(A)1 B 32

_— 2

(€)2 (D)%

(E)\T:[ﬂﬁﬁﬂ%{ [C]

2t W@ 21:26 & AU | g1 af uds | 8 Siter
wg, at 7€ weneit & sgue 5:6 @ e g1 afg

95.

96.

97.

98.

99.

100.

101.

102.

Tdd G / 2 9T A dt Sl & AHqard
EoIEY

(A) 1:4 (B)4:5
(C)18:25 (D) 2:3
(E) orgeRa wai [B]

iR A6 aque S A @R mIET6H 4
agal & wa & 39 Ran o FaEy, IHE AW
afaerd =1 @7

(A) 65% (B) 72%
QC) 80% (D) 29%
(E) SaRd ust [C]

fag A (13, 18), B(-5, 10), C (-13, -8) @@ D (5, 0)

SfFmddtwa_ F i F

(A) G TG (8) atf

(C) FHagH (D) a4

(E) 3rgaiRd us [A]

Tk U4 &1 el QHIT &R o TS J1 39 99
& M & IR 2, at v &1 fawof 7a fifsiw

(A) 61 % Fa7 (B) 3 7
(C) 243 318 (D) 6 38
(E) 3rgaiRa [A]

TRAIHA B CEDEAFATAA A ag @
TEFAFTEAB A& A CHRAFIWA

D @wer 1B & fru fem # D @wer 2

(A) IR (B) Ier-ufgw

(C) zfdur (D) ufgm

(E) srrafa us [B]
& 11é srrepfar Ryt &) wem aaEy:

(A) 15 (B)17

(€) 14 (D) 13

(E) 3rgafka et [A]

%8 hehR it de Siteft o & fhg we @
grefiq &

(A R )

(O (D) *fferarst

(E) 3rgaied ue [D]
TSy & ASAUTA H HH g1 G g? (Frafafda 4
4 ged uge g )

(A) T (B) TEufa

(C) weTwAT (D) ¥Rd & T Amarehtay

(E) s wst [B]

fFaa 2 srager, 1959 &t AR (I5eA™) § gt
et &t snyfaes Preadia vonedt @t Igres o an?
(A) FgTeT el (B) STaTER Tt A5

(C) &ifSrt Amag (D) ATt SBTGY AMeH

(E) 3raRa o (B]



103.

104.

105.

106.

107.

108.

109.

110.

YRdlg dRQuE § "daveRt 59" @1 fEr

# ffga g1
(A) Hifie SRy
(B) ST
(C) 7 arggeh
(D) reu & Aif Fdara Rrgm
(E) orfafa wst [D]
fowTera g (¢ aifefrar) @ g7
(A) Bt &1 U W St fgwrera & & oran Siran 8|
(B) fRmTad el &1 Toh Alehriid
(C) 7 ofwsfi gef
(D) SToTfd &l Teh WehR
(E) Srgeifid us [C]
Aoy $ a8 & At 3Ra arR & fiwed @8-
(A) T (B) Twret
(C) aicret (D)
(E) 3R ot [D]
Prafaf@d & & e 78 Rjar-aré § agdt &
(A) T (B) et
(C) TR (D) T
(E) SrFaRa uet [A]
Choose the most appropriate option to fill in

the blank:
Aditi has been working here

(A) six months ago  (B) six months before
(C) for sixmonths (D) since six months
(E) Question not attempted [C]

Choose the most appropriate passive form of
the word: 'declare’ to fill in the blank-
The old houses in town unsafe by the
authorities. - -
(A) are declaring (B) have been declared
(C) declare (D) declared
(E) Question not attempted [B]
Choose the most appropriate option to fill in
the blanks:

postman's little boy said that he'd

rather be dentists than
cardiologist, because dentist don't get
called out at night.

(A)The, a, a, x, X

(B) A, the, the, a, x

(C) The. the a, x, x

(D) x, a, a, a, the

(E) Question not attempted €]

ofy dmait 24, 34, 46, 48, 2x + 1, 4x + 3, 105,
110, 114, 123 & Tgd =¥ (3R1g =) 7 forar stmar
2 3R IAHY Arfdhr 77 &, af x T W

(A) 22 (B) 25
(C) 30 (D) 20
(E) SR w (B]

11.

112.

113.

114.

115.

116.

117.

118.

119.

foredt af &t 19 FTuRor sarer W R s @, At
39 5 auf & 50% &t gfG gt &1 s @ @ £ 15,000

&1 o Tl & a1E Tehgf saTet R gim?

(A) ¥ 4,800 (B) ¥ 4,900

(C) ¥ 4,965 (D) ¥ 4,960

(E) Srafed wst [c

Srforaer &t ggrar 37 R I5T AR | Aot A
& oy e gad, @Y ok 7 Jam (RITeET ok
wade gadaeor deanua affaaw, 2023) A ow @

wH € (MSME) &t ge &t safd ag1 & @-
(A)2d4ad (B)4 @5 af

(C)345 ad (D)3 @4

(E) SR o [C]
TS vt I Siftfaay (SmRdtsmry)

& @y gam

(A) 3T 1992 (B) Sa<t 1992

(C) 3 1994 (D) STad 1994

(E) Srgaifed o [C]

ez wfde (ICs) frm e & g @ waifda
L4

(A) fgefra sPRar (B) qelta

(C) Tq SFReA (D) WA SRIA

(E) Srfaid us [B]
ffaf@a & Yl s ke gr fAfifa wga
wTEeh IR Y Zifdees gy &2

(A) 1800 (B) 2300

(C) 2700 (D) 1700

(E) SraRa us [B]

R a1 e & @ a1 waiE saat apTelt adhge
&zt = &t smgn?
(A) Ctrl + Page Up

(B) Ctrl + Shift + F6/Tab
(C)Ctri+F6/Tab (D) F6 / Shift + F6
(E) Safed ust [C]
o asfoal g dfd F @dt & wfer ad ok @
M R R IR iR sk A o R W 31
ofé 37 =Tl F wWER T2 Ry o at e ad
BR & 153 == W 3 oreh @, at dfem & et fheeht

(A) 23 (B) 25
(C)27 (D) 21
(E) SRt o [A]

o Rafits dRd wd Rndgewe @ g
afe S & w1 ardt ofik & 32af @ qun et ik @

15a & aY dfr F Rrenfefat Y s Rt 22

(A) 47 (B) 46

(C) 48 (D) 45

(E) Srgfed wst [B]

P,RF YA ¢ RUd Qafe & Z, Q & wrar oft g ik
M, Z &1 g7 81 fFefaf@a & & F9-a1 wu= o &7
(AM P EmRl  (B)RTEM ag &

(C)Q, PRI YAt 81 (D) M 3R P HIR 18 &

(E) SrgaRa uH (A]



120.

121.

122.

123.

124.

125.

126.

127.

128.

TereuTE & Widll ik nifde T & Wt A sw FE
&1 TG R

A) 3% fig wf # a1q T & fAg W sieler S
fehar

(C) 35~ g gwr i A d5d AT UETS W
Smatferd &

(D) Mfdg T3 3 ToryA & fiedl & T ok RS
I & fow g 6 wmoar i

(E) 3aRa o [B]
Aafafea & @ s €l fEagy sifteay aer d
T RR W AFATE?
(A) Tt feen

(E) Srafed us [D]
URe | a1 wifg & fow B § | faen suain
foray st @7

mﬁ@m%@

(A) F5 (B) F6

(C)F7 (D) F4

(E) SraRd us [A]
frafafee 4 @ s davm Szdfe d adam
ﬁmﬂhmm@hmmr

(B) Today { }
(D) Today [ ]

(C) Ty @

(E) 3raRd Uy [A]
f#ﬁﬁ%ﬁﬂﬁhmﬁhnmﬁﬁahﬁﬁhﬁl
T

A)aiw (B) T@iH
(C) A¥TE (D) Hi-C TeR
(E Gﬂﬂﬁ?{m{ (9]
Jareq nfafefiat & v @waR grr & SR aren
mﬁmmmmﬁmamm%
(B) et
mwﬁa (D) St &t ot
(E) 3FaRa a1 [A]

mg#aﬁmnﬁﬂ@wiumﬂzmmﬁﬁnﬁ
mﬁﬁﬁmmmm%

ma@mﬁmﬁﬁimmﬁ%hwm

(C) UTg Rd R I &A1 (D) 4T HAg i 4T AT
(E) SraRd uy [A]
= awl A, B 3R C & getag e o= e
A-2,8;B-2,873RC-282¢
frafafes 4 § s sw s @

(A)BTH %l ___(B)C T g R

DATEUGE  (E) SRa [l

129.

130.

131.

132.

133.

134.

135.

& é afferar 4 Ar=afaf@a § @ e s@ata &2
NazSO4(aq)+BaCI2(aq) — BaSO0,(s) + 2NaCl (aq)
A)BaSO: (s (B) BaCly(aq)

(D) Na;SO4(aq)

“ L» I a q
(E) orfaRa us [A]
q:vﬂ 1@ qrﬁ I ﬂg&ﬁaiﬁﬁq

I. gAagH &t wi
[L.3oag T & aret wftefiet (sfdi)

[11. Sotaed @i areft @hsfist (sfeai)
IV. gaagE d g
#ﬁﬁwmﬁmﬁﬁﬁmﬁmm@ﬁﬁﬂﬁwz
(A) a-III, b-I1, c-Iv, d-1  (B) a-IL, b-IV, ¢, d-II
(C) a-1, b-1v, I, d-IT (D) a IV, b1 el -1l

(E) SaRd wa [D]
AP IAA YT AT & W 12 H 99T W (B
ﬁﬂmm ﬁmuf.

(mﬁmhmm TR

(C) iR A Ia=-3raw

(D) STETqR AF FerH-cheficeh

(E) orgaRa uy [A]
U I i & aRafde 99 & Reea & o
It & o aredt RfY & gfie-

) iR ufaerd x g afard

_ 100
SR
(B) p— x 100

()uﬁmmm+mwmm)

(E)M’i’ﬂﬁﬂﬂ’i D]
Hezet g1 orurge fahg g fagda fsteet ok qorf &
T A aret WAl &t gl
(A)aﬂamaqmz rﬁa/aﬁm

(D)Ef’r\‘rraﬂin:lﬁm/gﬂ (E)mg—ﬂﬁaw [C]
Ta aferg Sasry , forgem wat e ufa_igur
# gfaren Frtue &Re & wq & Afat & frar s
2ﬁmmwmmammﬁﬁm 21

(A)éﬁT\q e
(C) oifaees 3

(D)Q‘ﬂfﬁﬁfﬁf

(E) SraRa ue (B]
urey 3R 39S e Agw Gt W & TTeid A a1t
w2 = g

(A) GOeR GI=ItRT - T

(B) Trifciept SHTHITRATY - el
Q%ﬁmmﬁﬁﬁaam

(E) e e [D]



136.

137.

138

139.

140.

141,

142,

Choose the most appropriate English word for
the given word- (Rt

(A) Seizure (B) Regulation

(C) Abatement (D) Deferred

(E) Question not attempted [A]
Choose the most appropriate word to
complete the following sentence:

An inscription on a tombstone is termed as

(A)a grave (B) an epitaph
(C) a sermon (D) a cemetery
(E) Question not attempted [B]

Choose the word opposite in meaning to
ERUDITE

(A) llterate (B) Crude
(C) Learned (D) Boring
(E) Question not attempted [A]
o famelt e fhemmr & @i wra & o
iR
() T e
(B) ferraet weaT
(C) 1 3R FHR
(D) IR
w & ferg 'oft & forem Gf[I:fll
UIC|
musan?émmmm e
[A]
zooomramamﬁsz%mtl 60%
T ¢ R 50% [ wiE wes f
ﬁmﬁqﬁmmﬁm?
(A)430 (|EM@
(C) 460 (D) 410
(E) Irgeea [B]
|09927 + |09279 !ﬂmt:
A1316 (B)172
(€)9/5 (D)5/6
(E) Iea 74 [0]

143,

14,

145.

146.

147,

148.

149,

150.

A & w angft & PQR tw fvyw &1 QR, PM &
AR 21 9t QR=PR &, 7@ ZRPM &1 AW a1

UL

(A)80° S
() 95° (D) 70°
E) e v (A
mmmaa(mmm
A) g (B) st

(D) #1e
(E) I 7 [A]
Ta 500 G it IR Y et a1 v 600 f it
£1 9, et d 1.5 CfRRR dgd U1 o W g ¢,
it ueeit @ rachra faya i 2-
(A5 Umde (B30 SR diex
()45 Rl (D) 10 R Hie
(E) Lk [B]
o (aevEa) TveR 7@ @ ¢, @ @
TEREAARAAGME
(A) izt (evef) (B ufRemife (Sfia)
(C)m (D)mzﬂﬁm(
(E) w4
‘aiftg g & FfRe wend §-
(A) 3 (B
(€3 (D) &
(E) W [A]
'aq-q&ﬁ:lrﬁaﬂngaamaﬁl?-
(W) (B) s
Qm (D) @,
(E) S v [D]
Prefofa 43 Rl e @il
(A) e (B) e
() 7 (D) Fow
(E) drgafa [C]
251 o SR R i & fover e e g &7
(AR (B) rd
(C) 313 D)

(E) argaRa % [A]



